FETFRO

Hydraulic Disc Brake Replacement Parts List

Caliper-Mountain

www.tektro.com 2017V 1.2




Series

Model No.

TEKTRO Code No.

Mountain

ORION SL

HD-M740

FS24921B201R100

ORION

HD-M730

FS23921B201R100

ORION(OLD)

HD-M720

FP22921B301R100

AURIGA PRO

HD-M700

FP20921B301R300

Series

Model No.

TEKTRO Code No.

Mountain

GEMINI SL

HD-M520

FS22921B201B100

GEMINI SL

HD-M521

FS22921B201B100

GEMINI

HD-M510

FR22924B201B300

GEMINI

HD-M500/M501

FH61921B201B100

Series

Model No.

TEKTRO Code No.

Mountain

DRACO 2

HD-M352

FR21924B201B120

DRACO WS

HD-M351

FR20924B201B300

DRACO

HD-M350

FR20924B201B300

HDC330

HD-M330

FR20924B201B300

HDC300

HD-M300

FR20924B201B300

HDC300 WS

HD-M301

FR20924B201B300

Series

Model No.

TEKTRO Code No.

Mountain

AURIGA

HD-M290/M291

FH60921B201B300

HD-M285/M286

FH64921B201X300




SU2.4 Caliper

Hydraulic Disc Brake Replacement Parts List

Code No: FS24921B201R100

TE<TrirRO
D=iSNsL

Applicable Model

Item No.

TEKTRO Code No.

Description

Surface-treatment

Series

Model No.

1

SU2.0 Caliper

Black

ORION SL

HD-M740

005552001181

SU2.0 Banjo

Silver

ORION

HD-M730

0043520210B

SU2.0 @6x1 O-Ring

Black

GEMINI SL

HD-M520/M521

0031S20106B

SU2.0 M6x20.5 Connecting Bolt

UCP Black

VOLANS

HD-T710

00430200108

2.7X1 O-Ring

Black

AURIGA TUNE

HD-T530

0055T10210Y

AT1.0 Connector Insert

Barrel Silver

AURIGA SUB

HD-T520

22.5%5.5 Brake Hose

Black

DORADO

HD-E715

0031C10216B

CD1.0 Bleed Nipple

UCP Black

AURIGA E-TUNE

HD-E530

0052G20210B

GE2.0 Bleed Nipple Cap

Black

AURIGA E-SUB

HD-E520

0053P20110R

P20.11 Brake Pad

0054A10210S

AQ1.0 Pad Spring

Barrel Silver

0038A10206B

AQ1.0 Pad Axle

UCP Black

0044D20210S

DA2.0 R Retaining Pin

Barrel Silver

0062R20200B

DR2.0 Pad Spacer

Black

aAlalalalplalalalalalaln/ala

PD04B01800

Banjo Hose Kit
@2.5X35.56X1800mm

Black




SU2.3 Caliper
Code No:FS23921B201R100

Hydraulic Disc Brake Replacement Parts List

Applicable Model

Item No.

TEKTRO Code No.

Description

Surface-treatment

Series

Model No.

1

SU2.0 Caliper

Black

ORION SL

HD-M740

005552001181

SU2.0 Banjo

Silver

ORION

HD-M730

0043520210B

SU2.0 @6x1 O-Ring

Black

GEMINI SL

HD-M520/M521

0031S20106B

SU2.0 M6x20.5 Connecting Bolt

UCP Black

VOLANS

HD-T710

00430200108

2.7X1 O-Ring

Black

AURIGA TUNE

HD-T530

0055T10210Y

AT1.0 Connector Insert

Barrel Silver

AURIGA SUB

HD-T520

22.5%5.5 Brake Hose

Black

DORADO

HD-E715

0031C10216B

CD1.0 Bleed Nipple

UCP Black

AURIGA E-TUNE

HD-E530

0052G20210B

GE2.0 Bleed Nipple Cap

Black

AURIGA E-SUB

HD-E520

0053P20110R

P20.11 Brake Pad

0054A10210S

AQ1.0 Pad Spring

Barrel Silver

0038A10206B

AQ1.0 Pad Axle

UCP Black

0044D20210S

DA2.0 R Retaining Pin

Barrel Silver

0062R20200B

DR2.0 Pad Spacer

Black

aAlalalalplalalalalalaln/ala

PD04B01800

Banjo Hose Kit
@2.5X35.56X1800mm

Black




AP2.2 Caliper
Code No:FP22921B301R100

Hydraulic Disc Brake Replacement Parts List

Applicable Model

Item No.

TEKTRO Code No.

Description

Surface-treatment

—
<

Series

Model No.

1

AP2.2 Caliper

Black

ORION(OLD)

HD-M720

0055S20011R3

SU2.0 Banjo

Dark Red

AURIGA PRO

HD-M700

0043S520210B

6x1.0 O-Ring

Black

0031614126B

M6x14.5 Connecting Bolt

UCP Black

00430200108

2.7X1 O-Ring

Black

0055T10210Y

AT1.0 Connector Insert

Barrel Silver

@2.5%5.5 Brake Hose

Black

0031P22206B

AP2.2 Bleed Nipple

UCP Black

0052P22200B

AP2.2 Bleed Nipple Cap

Black

alalalalalalnala

0053P20110R

P20.11 Brake Pad

0054A10210S

AQ1.0 Pad Spring

Barrel Silver

0038A10206B

AQ1.0 Pad Axle

UCP Black

0044D20210S

DA2.0 R Retaining Pin

Barrel Silver

0062R20200B

DR2.0 Pad Spacer

Black

PD04B01800

Banjo Hose Kit
@2.5X25.56X1800mm

Black




AP2.0 Caliper
Code No:FP20921B301R300

Hydraulic Disc Brake Replacement Parts List

Applicable Model

Item No.

TEKTRO Code No.

Description

Surface-treatment

—
<

Series

Model No.

1

AP2.2 Caliper

Black

ORION(OLD)

HD-M720

0055S20011R3

SU2.0 Banjo

Dark Red

AURIGA PRO

HD-M700

0043S520210B

6x1.0 O-Ring

Black

0031614126B

M6x14.5 Connecting Bolt

UCP Black

00430200108

2.7X1 O-Ring

Black

0055T10210Y

AT1.0 Connector Insert

Barrel Silver

@2.5%5.5 Brake Hose

Black

0031P22206B

AP2.2 Bleed Nipple

UCP Black

0052P22200B

AP2.2 Bleed Nipple Cap

Black

alalalalalalnala

0053P20110R

P20.11 Brake Pad

0054A10210S

AQ1.0 Pad Spring

Barrel Silver

0038A10206B

AQ1.0 Pad Axle

UCP Black

0044D20210S

DA2.0 R Retaining Pin

Barrel Silver

0062R20200B

DR2.0 Pad Spacer

Black

PD04B01800

Banjo Hose Kit
@2.5X25.56X1800mm

Black




SU2.2 Caliper

Hydraulic Disc Brake Replacement Parts List

Code No:FS22921B201B100

GeminisL

Applicable Model

Item No.

TEKTRO Code No.

Description

Surface-treatment

Series

Model No.

1

SU2.0 Caliper

Black

ORION SL

HD-M740

005552001181

SU2.0 Banjo

Silver

ORION

HD-M730

0043520210B

SU2.0 @6x1 O-Ring

Black

GEMINI SL

HD-M520/M521

0031S20106B

SU2.0 M6x20.5 Connecting Bolt

UCP Black

VOLANS

HD-T710

00430200108

2.7X1 O-Ring

Black

AURIGA TUNE

HD-T530

0055T10210Y

AT1.0 Connector Insert

Barrel Silver

AURIGA SUB

HD-T520

22.5%5.5 Brake Hose

Black

DORADO

HD-E715

0031C10216B

CD1.0 Bleed Nipple

UCP Black

AURIGA E-TUNE

HD-E530

0052G20210B

GE2.0 Bleed Nipple Cap

Black

AURIGA E-SUB

HD-E520

0053A10110B

A10.11 Brake Pad

0054A10210S

AQ1.0 Pad Spring

Barrel Silver

0038A10206B

AQ1.0 Pad Axle

UCP Black

0044D20210S

DA2.0 R Retaining Pin

Barrel Silver

0062R20200B

DR2.0 Pad Spacer

Black

aAlalalalplalalalalalaln/ala

PD04B01800

Banjo Hose Kit
@2.5X35.56X1800mm

Black




Hydraulic Disc Brake Replacement Parts List

DR2.2 Caliper
Code No:FR22924B201B300

Gemin

‘9&-
\ ;f ,

Applicable Model Item No.| TEKTRO Code No. | Description Surface-treatment |Q'ty
Series Model No. 1 - DR2.0 Caliper Black
GEMINI HD-M510 0043U10250G 3.5x0.9 O-Ring Gray
DRACO 2/DRACO WS | HD-M352/ HD-M351 0055U10210Y AU1.0 Connector Insert Barrel Silver
DRACO HD-M350 0056U10200Y AU1.0 Compression Ferrule | Barrel Silver
HDC330 HD-M330 0031U10226B AU1.0 Connecting Bolt UCP Black
HDC300 HD-M300 D04B01000 @2.5%25.5x1M Brake Hose | Black
HDC300 WS HD-M301 0031C10216B CD1.0 Bleed Nipple UCP Black
- - 0052G20210B GEZ2.0 Bleed Nipple Cap Black
0053A10110B A10.11 Brake Pad -
0054A10210S AQ1.0 Pad Spring Barrel Silver
0038U22206B1 AU2.2 Pad Axle UCP Black
0062R20200B DR2.0 Pad Spacer Black

O oNo ol w(N

-
o

-
-

AlalalNaAlalalalalalala

-
N




HD6.1 Caliper

Hydraulic Disc Brake Replacement Parts List

Code No:FH61921B201B100

Gemin

Applicable Model

Item No.

TEKTRO Code No.

Description

Surface-treatment

Series

Model No.

1

HD6.0 Caliper

Black

GEMINI

HD-M500/M501

0043U10250G

3.5x0.9 O-Ring

Gray

AURIGA

HD-M290/M291

0055U10210Y

AU1.0 Connector Insert

Barrel Silver

HD-M285/M286

0056U10200Y

AU1.0 Compression Ferrule

Barrel Silver

VELA

HD-T290

0031U10226B

AU1.0 Connecting Bolt

UCP Black

HD-T285

D04B01000

22.5%25.5x1M Brake Hose

Black

0031P22206B

AP2.2 Bleed Nipple

UCP Black

0052P22200B

AP2.2 Bleed Nipple Cap

Black

O oNo ol w(N

0053A10110B

A10.11 Brake Pad

-
o

0054A10210S

AQ1.0 Pad Spring

Barrel Silver

-
-

0038U22206B1

AU2.2 Pad Axle

UCP Black

-
N

0062R20200B

DR2.0 Pad Spacer

Black

alalalNmrlmlalalalalala

- CM-503-




DR2.1 Caliper

Hydraulic Disc Brake Replacement Parts List

Code No:FR21924B201B120

‘9&-
\ ;f ,

Applicable Model

Item No.

TEKTRO Code No.

Description

Surface-treatment

Qty

Series

Model No.

1

DR2.0 Caliper

Black

GEMINI

HD-M510

0043U10250G

3.5x0.9 O-Ring

Gray

DRACO 2/DRACO WS

HD-M352/ HD-M351

0055U10210Y

AU1.0 Connector Insert

Barrel Silver

DRACO

HD-M350

0056U10200Y

AU1.0 Compression Ferrule

Barrel Silver

HDC330

HD-M330

0031U10226B

AU1.0 Connecting Bolt

UCP Black

HDC300

HD-M300

D04B01000

@2.5%75.5x1M Brake Hose

Black

HDC300 WS

HD-M301

0031C10216B

CD1.0 Bleed Nipple

UCP Black

0052G20210B

GEZ2.0 Bleed Nipple Cap

Black

O oNo ol w(N

0053A10110B

A10.11 Brake Pad

-
o

0054A10210S

AQ1.0 Pad Spring

Barrel Silver

-
-

0038U22206B1

AU2.2 Pad Axle

UCP Black

-
N

0062R20200B

DR2.0 Pad Spacer

Black

AlalalNaAlalalalalalala




Hydraulic Disc Brake Replacement Parts List

DR2.0 Caliper
Code No:FR20924B201B300

”I'ﬂﬂﬂ

”I‘ﬂﬂﬂws
TTEH<TFRO
Ho X
TELTFRO
HC T

= O oo

.
X

)‘f!;'!:
.“'A"‘

N

Q

Applicable Model Item No.| TEKTRO Code No. | Description Surface-treatment |Q'ty
Series Model No. 1 - DR2.0 Caliper Black
GEMINI HD-M510 0043U10250G 3.5x0.9 O-Ring Gray
DRACO 2/DRACO WS | HD-M352/ HD-M351 0055U10210Y AU1.0 Connector Insert Barrel Silver
DRACO HD-M350 0056U10200Y AU1.0 Compression Ferrule | Barrel Silver
HDC330 HD-M330 0031U10226B AU1.0 Connecting Bolt UCP Black
HDC300 HD-M300 D04B01000 @2.5%25.5x1M Brake Hose | Black
HDC300 WS HD-M301 0031C10216B CD1.0 Bleed Nipple UCP Black
- - 0052G20210B GEZ2.0 Bleed Nipple Cap Black
0053A10110B A10.11 Brake Pad -
0054A10210S AQ1.0 Pad Spring Barrel Silver
0038U22206B1 AU2.2 Pad Axle UCP Black
0062R20200B DR2.0 Pad Spacer Black

O oNo ol w(N

-
o

-
-

AlalalNaAlalalalalalala

-
N




HDG6.0 Caliper

Hydraulic Disc Brake Replacement Parts List

Code No:FH60921B201B300

FELTFRO
SHUNRIG R

Applicable Model

Item No.

TEKTRO Code No.

Description

Surface-treatment

Series

Model No.

1

HD6.0 Caliper

Black

GEMINI

HD-M500/M501

0043U10250G

3.5x0.9 O-Ring

Gray

AURIGA

HD-M290/M291

0055U10210Y

AU1.0 Connector Insert

Barrel Silver

HD-M285/M286

0056U10200Y

AU1.0 Compression Ferrule

Barrel Silver

VELA

HD-T290

0031U10226B

AU1.0 Connecting Bolt

UCP Black

HD-T285

D04B01000

22.5%25.5x1M Brake Hose

Black

0033H60206B

M6x10 Bleed Screw

UCP Black

0053A10110B

A10.11 Brake Pad

O oNo ol w(N

0054A10210S

AQ1.0 Pad Spring

Barrel Silver

-
o

0038U22206B1

AU2.2 Pad Axle

UCP Black

-
-

0062R20200B

DR2.0 Pad Spacer

Black

alalalmlmalalalalala




HD6.4 Caliper
Code No:FH64921B201X300

Hydraulic Disc Brake Replacement Parts List

Applicable Model

Item No.

TEKTRO Code No.

Description

Surface-treatment

Series

Model No.

1

HD6.0 Caliper

Black

GEMINI

HD-M500/M501

0043U10250G

3.5x0.9 O-Ring

Gray

AURIGA

HD-M290/M291

0055U10210Y

AU1.0 Connector Insert

Barrel Silver

HD-M285/M286

0056U10200Y

AU1.0 Compression Ferrule

Barrel Silver

VELA

HD-T290

0031U10226B

AU1.0 Connecting Bolt

UCP Black

HD-T285

D04B01000

22.5%25.5x1M Brake Hose

Black

0033H60206B

M6x10 Bleed Screw

UCP Black

0053A10110B

A10.11 Brake Pad

O oNo ol w(N

0054A10210S

AQ1.0 Pad Spring

Barrel Silver

-
o

0038U22206B1

AU2.2 Pad Axle

UCP Black

-
-

0062R20200B

DR2.0 Pad Spacer

Black

alalalmlmalalalalala




If you need support for a technical issue with a TEKTRO product,
please contact our Technical Support Team on:

TECHNICAL SUPPORT CONTACT DETAILS

Phone:

+886 47683999 - Tina Ou ext.1303 tina@tektro.com.tw
+886 47683999 - Elaine Liao ext.1312 elaine@tekitro.com.iw




	1: 封面
	2: index
	3: SU2.4
	4: SU2.3
	5: AP2.2
	6: AP2.0
	7: SU2.2
	8: DR2.2
	9: HD6.1
	10: DR2.1
	11: DR2.0
	12: HD6.0
	13: HD6.4
	頁面 14

